

Spring Flower Show

in
The Burnside Halls, Scone
PH2 6LP
12 noon till 4.30pm
Prizegiving 4pm

Refreshments & Home baking

THE ROYAL HORTICULTURAL SOCIETY OF PERTHSHIRE OFFICE BEARERS 2018

President
Mrs EUNA SCOTT, Dunmhor House, Perth Rd, Abernethy

Vice Presidents

Mrs BARBARA McDONALD,

Mrs CATHERINE DRUMMOND-HERDMAN,

Chairperson

Mrs Gillian Sharp, The Fields, West Redstone, Burrelton PH13 9PR
(01821650465)

Treasurer & Show Day Manager
Mrs Vera Taylor, 79 Crammond Place, Perth., PH1 3BW
(01738 629859)

Show Organiser
Mrs Pat Scotland, 9 Church St, Perth PH1 2BB
(01738 636641)

Membership Secretary
Mrs Freda Scott, Strathardle, 72 Feus Road, Perth PH1 2BA
(01738632826)

Children's Co-ordinator
Mrs Alison Ford , 63, Potterhill Gardens, Perth PH2 7ED (01738 628126)

Trophy Secretary
Mrs Norma Wright ,64 Feus Road, Perth PH1 2BA (01738 635018)

*Directors:*Mrs Anne Buchan,
Mr Robert Duncan,
Mrs Wilma Doig.

Ms Susie Eisner Mrs Hazel Sime, 24 Bruce Crescent, Perth PH11 2NZ (Chair, Floral Art)

Hon. Life Members
Mrs B McEwan,
Miss L Simpson,
Mr D Turnbull
Mrs J Wetherell,

We are one of the oldest Societies in the Country beying calabrated our Ri-centenery

We are one of the oldest Societies in the Country having celebrated our Bi-centenary in 2006. Why not become a member and help to keep us going? Only £5 per year!

For details of our future Shows and Syllabus visit our web page at www.rhsofperthshire.co.uk

SPRING SHOW 2018

Buchan Trophy - Most points in Classes 1-41
Mrs J. Buchan Trophy - Best Exhibit in Bulbs and Plants
Duncan Cup - Best Clivia
Meredith Campbell Vase - Best Vase Cut Daffodils

BULBS AND PLANTS

	1 ST	2^{ND}	3 RD
1. One container Trumpet Daffodils, (Div 1)			
container not to exceed 8"	£2.00	£1.50	£1.00
2. One container Trumpet Daffodils (Div 1)	£2.00	£1.50	£1.00
3. One container Large Cupped Daffodils			
(Div 2) container not to exceed 8"	£2.00	£1.50	£1.00
4. One container Large Cupped Daffodil (Div 2)	£2.00	£1.50	£1.00
5. One container Small Cupped Daffodils (Div 3)			
container not to exceed 8"	£2.00	£1.50	£1.00
6. One container Small Cupped Daffodils (Div 3)	£2.00	£1.50	£1.00
7. One container Double Daffodils (Div 4)	£2.00	£1.50	£1.00
8. One container 'Ice Follies'			
(In Memory of Bert Cunningham)	£2.00	£1.50	
9. One container Multi-flowered Daffodils	£2.00	£1.50	
10. One container Miniature Daffodils	£2.00	£1.50	
11. One vase 3 Trumpet Daffodils (Div 1) (named)	£2.00	£1.50	
12. One vase 1 Trumpet Daffodil (Div 1)	£2.00	£1.50	
13. One vase 3 Daffodils (Div 2 or 3) (named)	£2.00	£1.50	
14. One vase 1 Daffodil (Div 2 or 3)	£2.00	£1.50	
15. One vase 3 Double Daffodils (Div 4)	£2.00	£1.50	
16. One vase 1 Double Daffodil (Div 4)	£2.00	£1.50	
17. One vase 3 Daffodils (Div 8)	£2.00	£1.50	
18. One vase 3 stems Multi-flowered Daffodils	£2.00	£1.50	
19. One vase 3 stems Miniature Daffodils	£2.00	£1.50	
20. One vase 3 stems, any other Division	£2.00	£1.50	
21. One container three Hyacinths (any colour)	£2.00	£1.50	£1.00
(2 entries per person allowed)		04.50	04.00
22. One spike Hyacinth, any colour in any container	£2.00		£1.00
23. One container Single Tulips	£2.00	£1.50	
24. One container Double Tulips	£2.00		£1.00
25. One vase 3 Tulips	£2.00		£1.00
26. One vase 1 Tulip	£2.00		£1.00
27. One container Crocus	£2.00		£1.00
28. One container of Bulbs (2 entries per person allowed)	£2.00		£1.00
29. One container Primulas or Auriculas	£2.00	£1.50	
30. One Amarylis	£2.00	£1.50	£1.00

BULBS AND PLANTS (CONT)			
,	1 st	2 nd	3^{rd}
31. One Cactus	£2.00	£1.50	£1.00
32. One container of an Alpine plant or Plants	£2.00	£1.50	£1.00
33. One container Pansies or Violas	£2.00	£1.50	£1.00
34. One Pot Plant in flower	£2.00	£1.50	£1.00
35. One Pot Plant foliage	£2.00	£1.50	£1.00
36. One Clivia in flower	£2.00	£1.50	£1.00
37. One planted Container, Winter/Spring			
collection, for visual effect	£2.00	£1.50	£1.00
38. One planted collection Heaths/Heathers,			
maximum three varieties	£2.00	£1.50	£1.00
39. One vase Forsythia	£2.00	£1.50	£1.00
40. One vase Flowering Shrubs	£2.00	£1.50	£1.00
41. Members Competition	£2.00	£1.50	£1.00

PHOTOGRAPHIC SECTION

Photograph size **not to exceed 18cmx13cm** and may be mounted but not framed.

		1 st	2 nd	3 rd
CLASS A	"Wow!!"	£3.00	£2.00	£1.00
CLASS B	"Mountain Grandeur"	£3.00	£2.00	£1.00
CLASS C	"Delights of Spring"	£3.00	£2.00	£1.00

Photographs which have previously won a prize are not eligible for re entry.

PERTHSHIRE CITIZENS' CLASS

Entry restricted to those resident in Perthshire Centenary Medal - for most points in this section

			1^{st}	2 nd	3 rd
400	Floral Art	"Twiggy Approach"	£8.00	£6.00	£4.00
401	Floral Art	"Diamond Anniversary"	£8.00	£6.00	£4.00
(Floral Art Exhibits for this Class can be brought ready assembled These are not judged under NAFAS Rules)					

Pot Plant - Foliage	£2.00	£1.50	£1.00
Pot Plant - in Bloom	£2.00	£1.50	£1.00
Vase of Daffodils (minimum 3)	£2.00	£1.50	£1.00
Vase of Tulips (minimum 3)	£2.00	£1.50	£1.00
Vase of Spring Flowers	£2.00	£1.50	£1.00
Container of Pansies or Primulas	£2.00	£1.50	£1.00
One Vase Cut Flowers and Foliage from the			
open border	£2.00	£1.50	£1.00
	Vase of Daffodils (minimum 3) Vase of Tulips (minimum 3) Vase of Spring Flowers Container of Pansies or Primulas One Vase Cut Flowers and Foliage from the	Pot Plant - in Bloom Vase of Daffodils (minimum 3) Vase of Tulips (minimum 3) Vase of Spring Flowers Container of Pansies or Primulas One Vase Cut Flowers and Foliage from the	Pot Plant - in Bloom £2.00 £1.50 Vase of Daffodils (minimum 3) £2.00 £1.50 Vase of Tulips (minimum 3) £2.00 £1.50 Vase of Spring Flowers £2.00 £1.50 Container of Pansies or Primulas One Vase Cut Flowers and Foliage from the

HANDICRAFTS					
		1^{st}	2 nd	3^{rd}	
101	An Oven mitt	£2.00	£1.50	£1.00	
102	A Poster commemorating 100 years of the RAF	£2.00	£1.50	£1.00	
103	A piece of Handmade Jewellery	£2.00	£1.50	£1.00	
104	A pair of Booties (to be donated to SIMBA for a	n memory	box		
	using the pattern supplied on back page)	£2.00	£1.50	£1.00	
	BAKERY AND PRESERY	VES			
		1^{st}	2 nd	3^{rd}	
111	3 Blueberry Muffins	£2.00	£1.50	£1.00	
112	A Lemon Tart (max 8")	£2.00	£1.50	£1.00	
113	3 pieces of flavoured Shortbread	£2.00	£1.50	£1.00	
114	A Jar of home-made Orange Curd	£2.00	£1.50	£1.00	
None of				£1.00	

FLORAL ART

Mrs G.B. Keay Trophy - most points in Floral Art Section
Mrs B McDonald Trophy - best use of colour
The Island Gardens Challenge Trophy - best exhibit in Novices

CLASSES 212 TO 221 SPACE ALLOWED:

Width 76cms Height Unlimited NAFAS Rules apply (see back page)					
***************************************	Teligin Chimited 1421122 Tunos apply	1 st	2 nd	3^{rd}	
212	"Winter's farewell"	£8.00	£6.00	£4.00	
213	"Nature's contrast"	£8.00	£6.00	£4.00	
214	"Mix & Match"fabric with flower	£8.00	£6.00	£4.00	
NOVICE (Open to anyone who has not won more than 3 firsts in any show judged under NAFAS Rules)					
unij bilo i	, juaged under the trace)	1 st	2^{nd}	3 rd	
220	"A Gift of Colour"	£8.00	£6.00	£4.00	
221	"The Magic of Flowers"	£8.00	£6.00	£4.00	
CLASSES 230 &231 Can be brought to show already assembled. They are not to exceed 50cm width and 40cms height					
	g	1^{st}	2 nd	3 rd	
230	Design a church kneeler (top only) made from fr	esh/dried	l plant n	naterial	
		£8.00	£6.00	£4.00	
231	" A Gift for You"	£8.00	£6.00	£4.00	

Find out more about the society by visiting:www.rhsperthshire.co.uk or rhsperthshirefacebook

RULES

- 1. All competitors must conform to these Rules and any infringement will result in disqualification.
- 2. Subscriptions due at the AGM and must be paid by the Spring Show Annual £5. Exhibitors may pay £1 per entry or be members to enter.
- 3. It is essential that all floral art entrants send in a completed entry form with membership fee no later than two days before the show. It is advisable that entries to other classes are submitted at this stage. Entries for other classes than floral art classes will usually be accepted if space is available.

4. All entry forms to Show Organiser or rhsofperthshire@gmail.com

All competitors are held to declare that the articles exhibited by them are their own growing or have been in their possession for at least two months. (Plants and materials for Floral Art excepted). Bakery, preserves, handicrafts and photographs to be exhibited must be the exhibitor's own work.

- 5. STAGING TIMES Friday 23rd March 5pm to 11pm and Saturday 8am to 8.30am. Judging commences 8.30am.
- 6.The Spring Show will be open to the public from 12noon until 4.30pm. Trophies and Special Awards will be presented at 4.00pm

Prize Money will be paid out only between 12 noon and 4pm on Saturday with any unclaimed prize money being returned to society funds.

- 7. No competitor will stage more than one exhibit in any one class. except if otherwise specified.
- 8. All cut flowers to be inserted in water in vases supplied by the Society.

Bottles, Jam Jars and similar containers will not be permitted .

SIZES - ALL CUT FLOWER CLASSES to be exhibited in solid-based vases. Check information in hall beside vases when staging your exhibits.

OTHER CLASSES AND JUNIOR SECTION - in vase appropriate to exhibit

- 9. Where two or more exhibits are otherwise equal in value, preference will be given to those correctly and distinctly named.
- 10. Before any exhibit is placed into position, an **entry card** must be obtained from the Show Secretary. This must be filled in and placed next to the exhibit.
- 11. The decision of the judges shall be final and no protest will be entertained against any award except on the grounds that these Rules have been violated. If any competitor is unhappy with the judges decision this must be taken up with the Show Secretary.
- 12. In the event of the judges failing to agree on any one exhibit, they must call one other judge, but only one is permitted. Judges will have the power to withhold or modify the prizes, when the exhibits are deemed by them to be unworthy of a standard award or awards.
- 13. In the event of any one or more of the judges being unable to attend on the morning of the Show, the Directors will have the power to appoint one or more as necessary to fill the vacancies.
- 14. During the Show period members of the Directorate shall constitute the Emergency Committee and shall meet when called by the Secretary with a quorum of three.
- 15. In the event of the funds being insufficient to pay the prize-money in full, after providing for all other liabilities, the Directors reserve the right to reduce the prize money by what they consider a fair percentage and upon being paid this reduced prize-money the competitors shall have no further claim against the Society.

Rules continued on page 8

JUNIOR SECTION

Classes 301-307 are open to children up to 18 years and will be judged in the following age groups:-

Section A- up to 7 years Section B- 8-11 years Section C- 12- 18 years

Trophies

Gavin Catto Cup- Winner class 304 Section A RW Donaghy Trophy - Winner of Class 304 Section B Davidson Trophy - Winner of Class 304 Section C Rosettes for 1st, 2nd and 3rd in all sections in class 305

	1st	2nd	3rd
Class 301 3 Tulips with greenery	£2.00	£1.50	£1.00
Class 302 Birthday card featuring a rainbow	£2.00	£1.50	£1.00
Class 303 3 Birthday cakes	£2.00	£1.50	£1.00
Class 304 Narcissus bulbs grown in a tin can	£2.00	£1.50	£1.00
Class 305 A bird nesting or feeding box made from a milk	/juice car	ton	
	£2.00	£1.50	£1.00
Class 306 Wooden spoon flower	£2.00	£1.50	£1.00
Class 307 Painting/drawing of a tree	£2.00	£1.50	£1.00

FLOWER POWER MEMBERS ONLY

Class 500	Easter landscapes	£2.00	£1.50	£1.00
Class 501	Dressed lamb	£2.00	£1.50	£1.00

Flower Power is a club for 7 to 18 year olds who are interested in flower arranging and related crafts. They meet in Glenearn Campus, Perth from 10am to noon on the last Saturday of the month. All enquiries to our Children's Coordinator.

.....

INTERESTED IN TURNING YOUR BEAUTIFUL BLOOMS INTO A STUNNING ARRANGEMENT?

COME AND JOIN US AT THE

RHS FLORAL ART CLUB

IN THE ROYAL GEORGE HOTEL ON THE THIRD TUESDAY OF THE MONTH

AT 7.30 pm

A WARM WELCOME AWAITS YOU FOR MORE INFORMATION CONTACT:-Mrs Hazel Sime (01738 634128)

www.rhsofperthshire.co.uk or rhsofperthshirefacebook

NAFAS RULES

An exhibit is composed of natural plant material, with or without accessories, contained within a space as specified in the Show Schedule.

NAFAS Rules state that disqualification will take place for the following reasons:

- 1. Failure to comply with any specific requirements of a class as stated in a show schedule, e.g. the measurements or the components.
- 2. Inclusion of fresh material that does not have roots or the cut ends of stems in water or water retaining material.

Exceptions: air plants, cacti, fruits, grass turf, lichen, moss, succulents, vegetables and long lasting plant material (including strong fibrous stems) WHICH WILL REMAIN TURGID FOR THE DURATION OF THE SHOW.

(Definition of 'turgid' - the state of firmness of plant tissue resulting from adequate moisture causing the plant cells to be fully expanded.)

3. Inclusion of artificial plant material, (unless specifically allowed by a show schedule.)

Many techniques, whether contemporary or traditional, require a great deal of time to complete. Predone work of this type is acceptable in any class, unless specifically excluded by the show schedule. For further details and definitions, please refer to the NAFAS 'Competitions Manual', Third Edition 2015, in accordance with which all classes will be judged.

Floral Art exhibits to be staged on a table covered in pale green material.

Class 104 pattern for Tiny Booties

Use any appropriate size of needles and thickness of yarn.

Cast on 25 sts. Knit 7 rows in garter stitch

Row 8 - knit 10 k2 tog, k1, k2 tog, knit 10

Row 9 - purl 9, p2 tog, p1, p2 tog, purl 9

Row 10 - knit 8 k2 tog, k1, k2 tog, knit 8

Row 11 - purl 7, p2 tog, p1, p2 tog, purl 7

Work 12 rows in K1 P1 rib

Cast off, sew up and fold cuff over.

Rules (contd)

16. The committee will take all possible care of the articles shown, but the Society shall not be responsible for any loss or damage which may arise from any cause whatsoever to the plants, flowers, fruit, vegetables, stands, vases or other articles either as exhibits or utilised in the exhibiting.

17. ALL TROPHIES MUST BE SIGNED FOR AFTER THE AWARDS CEREMONY. All trophies are to be kept in good order by the holders and returned to the Trophy Society (01738 635018) by the staging evening of the show.

18. In pointing for competitions, 3 points will be awarded for 1st prize, 2 points for 2nd prize and 1 point for 3rd prize.

19. Class 41 - Bulbs, instructions and rules available from show organiser.